Unit 6 Noteg
Factoring

—— WHAT?
I'M FACTORING Y&,
THE TIME. _,

Tontative Schedule

Day Clagswork Aggignment
Video #6.! with Notes:
) i
Mon. Il/24 (all) Teot #5 Factoring by COF
Tues. 11/25 () 7 Video #6.2 with Noteg:
Mon. 12/1(R) Factoring Trinomiale
Tueg. 12/2 (al) 8-37 Video #6.5 with Notes: -
Factoring Trinomials by Grouping
Wed. 12/3 () 2858 Video #6.4 with Notes:
Thure. [2/4 (R) Factoring Special Cages of Binomiale/ Trinomiale
Fi 125 (al) 50-g] Video #§.5 with Noteg:
Factoring Completely
Fri. 12/5(R) . .
Mo, 2/8 (9] Quiz #6 during Lab Clags
Mon. 12/8 (Q) - )
Tues 12/9 (R) 82 -100 Finigh Practice Packet
Wed. 12/10 (all) Review for Teet #6 Review for Teet #6
Thure. 12/11(S) Tect #6 8A

Fri.12/12 (R)

Name:




Factoring Flow-Chart

nB: factor

e
squares

two perfect
cubes

(oo )

ad-b=
(a-b)(@a2+ab+b2)

aF+bi=
(@a+Db)(a2-ab+b2)

perfect ,\“n.+..§+%-e+sn EX: Hy +S.x+&
o) 20T e

factor by grouping - find two ExX wx +x- 14
generic numbers(b ], ba) that
trinomal “multiply" o the value of ac w%.ﬂgn v
ax2+bxtc and “add up" to the value of b
ax2+Dbyx+box+c

factor by grouping -

factor into two groups
so that the groups

have a common factor

mx..w?x +E+¥f
W3+ B +H (3% + Y

e




Notes 6. - Factoring by GCF
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CCF etande for:
(A(Eodest Common
Y ockor
Orime: Composite:
O nerural A h O NOdUo umibber
W0 yngue foehrs with tore fhan fwo
(e ond s&@ unique dwisel”
To find the GCF of a et of numbers, look for the | 8W@ Sk
promx\t
Find the GCF of the following. Then divide each number by the GCF.
1824
QCF: (D_
Divided by the CCF: 3 , Ll’
2) 90,35
cr 40
Ohvided by the 6CF: &, |
3) XS’X7’X6Lp
oo K )
Diided by the 0CF:_ X, XK \
4)  9a*b®15a%° 327"
ee&ﬂ
Duidad by e 0cF 30 S& g

5)  Distribute. 3)(( x> +8x% + 4)
4 2
XY XX

What ie the BCF of the angwer to number 52

3¥%
(wndistibwe and yowll ge):
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Steps to Factoring by GCF:

. Findthe G CF

0. Diide

the expression by the 6 e

_(Undigtribute)

3. Write the anewer ag G e (QI\LO‘th

Try thege.

6) -bx®y+25x

g- S (Ly- 53

8)  Qolve fora. 5a+10gx=4b

%0, 1+2x)= 4b
0= e~

5(1+2%9)

7). Axty+Txy %Fé

Xy (4x+7) <<

9)  Solve fory. 3xy+9y=I14

3y(x+3)= 14
"
J7 303
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Notes 6.2 - Factoring Trinomiale by Trial-and-Error

General form of a quadratic expression: ax” +bx +¢

Multiply each expresgion below:

1) Bx+dx+2) 2)  (BGx+3)2x+))
5+ X (2XH) D+3( 2X+\3
X3y | 4
IS HHED
2 [P

When you factor, you are “un-distributing” the trinomial into the product of two binomials. Try the following exampleg

3x*-2x-8

ESX*‘ 4Yx- 2]

4) 3x*+x-14

: (3 + T)x- 2 T

1w

3
R
|4
5)  x*+x-20 6)  -2x*+3x+9 2
(x5 Y-+ | 7B L(*ZX+5>O<+3>}Tq
4ls T
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Notes 6.3 - Factoring Trinomials by Grouping (W/l L}

Multiply the following binomiale: (3x + 24 x - 7) = X Lb( —B 1‘2(/“)( _1> 1\( ,l\

Example: 6x” +5x-6 :@’ \%X I L}
A Congider the product (allc): ( b) (- Q - - 3[_0

B.  List out al poseible factor paice of (allc)

(’L 3l (2, r% (3, \2\) (‘L}/O[\ ((0’_@
(1,-3) (27 |<33 (3,71 (1.}]-q>

C.  Find the pair that aticfies the requirements of the product-sum method (i.e., a pair of numbers whoge product equals ac and whose

4 ond 9

0. Rewrite the expresgion with the same firet and lagt term but with an expended b term uging that pair of factors ag coefficients:

by*+5% - o
bx 40y -

aum ig A).

E. Wenow have four termg that can be entered into a tabular model or factored by grouping.

(6C-4%)+ (- )

F. Dair the firet two and the last two. Factor out a common factor for each group.

D) +3(512)

(2%-2) (283)




Try the following exampleg:

7)  Bx*-2x-8 3 %)"2‘*

(3)( &ﬁex 8\ "?

4[b
ey +ien) B

@2}( SX#M

9)  x*+x-20 (\\(@:

. 20
X-4%+5x-20 Tﬁo

(-4 +(5x- )& s
X(X—'—\\wt 5(x-A 4) =

\ (x-4)( ><+5ﬂ

Corefunl

ABED) -2(367)

i(sxﬂ)(wb {
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0) 24 +5/?>\;;+9 (‘%\K?:Jl%
A% % +9
(-27-30) Hlot+D L
-)((z)(+:5+5 ZX_B’L
(2x4)[42)]
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Notes ©.4 - Special Cages of Factoring

Multiply the following binomiale together:
D x-dlx+4) 2) (Bx+ 543)( -5)
3% 5

e el I

General form for a difference of perfect square:

8> -b* =(g-bla+b)

Factor:

4) 94+ x?
2

] (x):é)?x-aﬂ

5)  x*+16 6) x*-8l
| (D)
prime (KN30




Multiply the following binomiale together:

7)  (x+4x+4)

)i‘), dyadx Hlo

8)
3

S

(33){+ g)(?)x +5)

NEIRTE
> ) Qx +50X+25\

General form for equaring a binomial:

(a+bla+b)=

a” +2ab+b*

Factor.

9) x*+6x+9

(X3

1) x*-14x+49

(-7’

0)

25x7 +60xy + 36 y*

(5K +ou)

2.)

x*-10x-25

pr‘lme
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Notes 6.5 - Factoring Completely

Try thege steps in the following order.
(s there a GCF?

Doeg it look a Difference of Perfect Squares?

Can | factor a trinomial by grouping or trial-and-error?

S © ® B

¢ my final anewer completely factored?

Factor completely.

) BOx*-2424* 2)  ®+207-35¢

A26¢-y"

) 0 (c-35)
2(5xld)(5c- 1) el 9

2 _ _ 2,2 2, 2
3) 9x*-T8x-27 (3){4%:_9_' 4)  xy*+7x’y-60x

3(30- 2lox- 9 ¥ (47360
.5[(3)(“-27)(5 +(X-‘ﬁ ?—, ﬁm

Aocaied |

\3(;(4\(&«4\




